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const int MAXN=15,MAXV=5e5+5;
const LL inf=1el8;
int a[MAXN];
LL dis[MAXV];
bool vis|[MAXV];
void dj(int n
priority queue<pair<LL,int> >q;
g.push(make pair(0, ;
_for(i,1,a
dis/i/=inf;
lq.empty
int u=qg.top().second;q.pop();
vis|u
vis|ul=true;
_for(i,1,n
int v=(u+alil)%a yw=alil;
dis|v/|>dis|u/+w
dis|v/=dis ul+w;
g.push(make pair(-dis|v],v));

LL calc(LL val
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LL ans=0;
_for(i,0,a

dis[il<=val
ans+=(val-dis[i])/a +1;

ans;

int main
int n=read int();
LL gql=read LL(),qr=read LL();
_for(i,0,n
alil=read int();
sort(a,a+n);
dj(n);
enter(calc(qr)-calc(ql- ;
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